GU10/GZ10%T & GU10/GZ10%T &

GU10/GZ10 lampholder GU10/GZ10 lampholder

& GU10/GZ10XT &

Ceramic GU10/GZ10 lampholder

»,
K512GU K512001GU K512008GU
K512007GU
K512GZ K512001GZ K512008GZ
{‘
K5120GU K511GU K512KGU K512K01GU
: K5120GZ K51GZ K512KGZ K512K01GZ
K512MGU K512PGU
K512QGU

K512MGZ K512PGZ

$BRLGU10/GZ10%T BB

Plastic GU10/GZ10 lampholder
K512WGU K512ZGU K512YGU

GU10/GZ10%T &

GU10/GZ10 LAMPHOLDER

&' | 035 036 | &’



GU10/GZ10XT B GU10/GZ10XT EE

GU10/GZ10 lampholder GU10/GZ10 lampholder
7= @#4& Product Specification Bc#H#LA Product Specification 25 o5
Bs MR im
Bs EHEH R bR R RRIZE KTEER Model No Body Material Heat-resisting o
Model No Body Material Contact Fixing screw Lamp Socket 1 g
;' 1 H/AER RWSsLE78 2PBT Black PBT Max. 180°C | ®
‘\ ad K512GU  #&% Steatite = M3 GU10
rass/Stainless steel
e, ‘ /R ER =g
\&W) K512GZ IR steatite Brass/Stainless steel 3 Gl
B2 #M4& Product Specification 2138
— [
g MR #iE .
| Model No Body Material Heat-resisting @ = L
HEREER ° = e
‘ﬁ‘ s 2| (@us 250v 100w § RWSL893 2PA66 Black PAG66 Max. 180°C i 8
M7
[ [E (8 2A 250V 1250 ‘ 255
g 385
M4 Product Specification
15.5
RS MR i iE
Model No Body Material Heat-resisting -
« ; N
RWSL261B 2PpA6 Black PAG Max. 180°C . -
fi i — <7 & =
K512GU/K512GZ BgF (Accessories for K512GU/K5120GZ) AWSL2620 i, Max. 180°C w5 =
B #4& Product Specification M4 Product Specification
28
Bs TR RERE _ Ly - £ 37375 it i 1
Model No Body Material Fixing screw Bd ‘ Model No Body Material Heat-resisting o % ] j-i |FE
o (o]
RWZJ149 #iE e Steel Plated Zn M10X1 / M3 T RWSLBO3 ZPpA66 Black PAGE Max. 180°C % & o |
9} —=
RWZ)248 PEFE Steel Plated Zn M8X1 / M3 ‘ 0 016 RWSLBO4 BPAG6 Black PAGG Max. 180°C 66.4
Bk #4& Product Specification M4 Product Specification
ﬁ;’T O'E:IEW o3 l BREE iR £ R
Model No Body Materia Fixing screw Heat-resisting Model No Body Material O TS~ P
8 ,_.:ﬂl.I|I|||.||||.I|||.I||.||||||I|||.I|||.|||.I|||||||||.I||"@:' ||r\Q/:|
RWsSL023  ##PPS Plastic PPS M10X1 Max. 250 °C RWTHO44 A5 Stainless steel m
RWSLO10  #E8IPPS Plastic PPS ~ M8X1 Max. 250 °C
B2 # 4% Product Specification sk -
RS MR it i
Model No Body Material Heat-resisting =
8
RWSL263 Z2pps Black PPS Max. 250 °C 8
< o7

@&’ | 037 038 | &’



GU10/GZ10XT B

GU10/GZ10 lampholder

= @#M4& Product Specification

@' | 039

GU10/GZ10XTEE

GU10/GZ10 lampholder

7= @#4#& Product Specification
s MR fib b R RGBS KTRESE B
Model No Body Material Contact Fixing screw Lamp Socket
ik K5120GU BARE Steatite  AREH Stainless steel M3 (I(51{?2UOTD%GU)
B I].
U K5120G2Z BHEE Steatite A5 Stainless steel M3 {K51G2201008GZ)
18+0.2
R, (P 5w
@3.2 [
o 2
0.5-1.0mm* plug-in Max.#1.8
[ ¢S us 250v mow‘ ‘ ® 2A 250V T250 J
228 ||
17.2

K5120GU/K5120GZE# (Accessories for K5120GU/K5120G2)

B4 #4& Product Specification

8BS
Model No

as ES. 7 )54 AR RERE] KTRESE B
Model No Body Material Contact Fixing screw Lamp Socket
K5120GU BE% Steatite g4 Stainless steel M3 (K5 1"’2%1001 6U)
K5120GZ  BRE Steatite A& Stainless steel M3 (KS]GZZC}001 62)
<" TT
18+0.2
[ é 1%0 g
0,5-1.0mm’ plug-in Max.e1.8 @3.2 I
o us 250V 1ouw‘ [ ® 2A 250V T250 ] j
@28 — L
17.2
Fr@#M4& Product Specification
as FEME b &R REBET KTEESERY
Model No Body Material Contact Fixing screw Lamp Socket
- \ K5120GU B&EE Steatite &M Stainless steel M3 GU10
3 (K512007GU)
o 4%
18+0.2
<= 9T -
235
]
[ é ‘VO e—1 q
0.5-1 0mm’ plug-in Max.#1.8
A us 250V muw‘ [ ® 2A 250V T250
28
17.2
21

=

Fire R RIEIRET iiE
Body Material  Fixing screw Heat-resisting
RWSL023 B PPS Plastic PPS M10X1 Max. 250 °C
RWSLO10  #EHIPPS Plastic PPS M8x1 Max. 250 °C

13.8

E

@25

040 | &




GU10/GZ10XTEE

GU10/GZ10 lampholder

=@ ##& Product Specification

Bs MR it R TRIERET KTRESERY
Model No Body Material Contact Fixing screw Lamp Socket
K5120GU10 BH¥E Steatite A& Stainless steel M3 GU10
K5120GZ10 B AE Steatite  FEHW Stainless steel M3 GZ10
$3.220.15 18:0.2

[ é 1 ,0
0.5-1.0mm’ plug-in

SN s 250V 100w
‘ [ @@ 2A 250V T250 ‘

G

18.2

K5120GU10/K5120GZ10 B (Accessories for K5120GU10/K5120GZ10)

i
N

A
W

0

5.4

d
EH

&' | 041

Be44#14& Product Specification

Be44#14& Product Specification

&S EEHRE R wa
Model No Body Material Fixing screw s
RWZJ149 M sF Steel Plated Zn M10X1 / M3
RWZJ248 M Steel Plated Zn MBX1 / M3 O

@16

®
12
216

RS MR TIRIRET fitid
ModelNo BodyMaterial  Fixing screw Heat-resisting ;
[
RWSL035 ®EHPPS Plastic PPS M10X1 Max. 250 °C
RWSL034  ¥E$IPPS Plastic PPS M8X1 Max. 250 °C

GU10/GZ10XT FE
GU10/GZ10 lampholder
=i AE Product Specification
as MR AR RERBE KTRESE B
Model No Body Material Contact Fixing screw  Lamp Socket
K511GU BEE Steatite  REEH Stainless steel M3 GU10
K511GZ BRE Steatite  FEW Stainless steel M3 GZ10

=P85 B 2500 100w -
[ (R 2A 250V T250 ] &
15.7
= amilig Product Specification
Bs E LR b4 H REBRE] KTRESE B
Model No Body Material Contact Fixing screw Lamp Socket
/ {; _’“,-! K512KGU10 5% steatite  AREH Stainless steel M3 GU10
K512KGZ10 2FZ Steatite & Stainless steel M3 GZ10

Wy«

oo | |y
0.5-1.0mm* plug-in Max#1.8

=X

#3.5+0.15 18.2

042 |



GU10/GZ10%T EE

GU10/GZ10 lampholder

—

S

[

T

e e e
[zsoncs] ) (fs.4)
B

Fr@i4& Product Specification

Bs MR AR REEST KTRESE B
Model No Body Material Contact Fixing screw Lamp Socket
K512K01GU BAZE Steatite  FEH Stainless steel M3 GU10
K512K01GZ &/ E Steatite A Stainless steel M3 GZ10

s

15.59

HEETR
05-1.0mm | | With Wire

<N us 250V 100w

(3R 2A 250V T250 ]

GU10/GZ10XT &
GU10/GZ10 lampholder
=il Product Specification
Bs ES. 7 )54 R TRBE KTRESERY
Model No Body Material Contact Fixing screw Lamp Socket
K512MGU JBRE Steatite  E5 Stainless steel M3 GU10
K512MG2Z JBAE Steatite  EH Stainless steel M3 GZ10
o (I I
% |
Tl
HaE
17

12.29

R
With Wire

0.5-1.0mm’

[ G 24250V T250

@' | 043

K512MGU/K512MGZ &g (Accessories for K512MGU/K5120GZ)

(9]
&‘ o] \""’Eﬁ
[U.S—l.[)mm’ %ug-in [ Max.#1.8 _E
l:m us 250V 100w
(B 2A 250V 1250 ‘ Hes
19.2
Mg Product Specification
as EEHE bR R RERE] KTRESEBY
3 Model No Body Material Contact Fixing screw  Lamp Socket
': : K512QGU JBAE Steatite $f Brass M3 GU10
v e
> - ()
- 335 Fixing height

10

@28x2

m \lﬂw.lul ‘| ’M

=, .-
E‘“ -QU @g
=N

Be{#148 Product Specification
%S EHHR RERET v
Model No Body Material Fixing screw » E
RWZJ149 M eF Steel Plated Zn M10X1 / M3 «
RWZJ248 iEE Steel Plated Zn MB8X1 / M3 O
| 12 ?16

044 |




GU10/GZ10XT E&

GU10/GZ10 lampholder

GU10/GZ10%T EE

GU10/GZ10 lampholder

o e s B4 Product Specification il
A& Product Specification —
&S MR fitia
ns F MR R # R RRRET ITEESER ModzNu Body Material Heat-resisting al e
Model No Body Material Contact Fixing screw Lamp Socket g8 8
RWSLO05 Lce Max. 250°C
’. KL K512PGU BARE Steatite REEH Stainless steel M3 GU10
e K512PGZ BHE Steatite 4 Stainless steel M3 GZ10 8.3
EofE#4E Product Specification
ey e N
&S E %05 RIBET itia
ModelNo  BodyMaterial Fixing screw Heat-resisting 0 §
O |[\2= O
01 e %ug-in 5%5’51:3 RWSL135 LcP M10X1 Max. 250 °C P
AN us 250V 100w & = St o e Max. 250 °C .
€ & 2A 250V T250 ]
K512PGU/K512PGZ B2+ (Accessories for K512PGU/K512PGZ)
E {4 #4& Product Specification
o = &S MR RERRET
‘@ = Mod: No Body Material Fixing screw - s M3
® 3 S
@ o RWZJ149 R sx Steel Plated Zn M10X1 / M3 ©
— RWZ)248 MEEsE steel Plated Zn M8X1 /M3 O
12 16

B4 #14& Product Specification

@' | 045

wS Fire R
Model No Body Material
RWQT039 #&% Zinc alloy

* B& K5408B,K540)4MESISMR Match outer ring of 540B and 540)

B4 #14& Product Specification

wS EEHR
Model No Body Material
RWQT830 A% Zinc alloy

@30.8

28x2

046 |



GU10/GZ10%T B

GU10/GZ10 lampholder

= @ #48& Product Specification

@' | 047

s FEH R AR+ R BRI KTEESE R
/ Model No Body Material Contact Fixing screw Lamp Socket
! P PET /R M3 GU10
% K512WGU Brass/Stainless steel
15.4
]
w
M~
= = s
0.5-0.75mm? ﬁrﬁ‘ﬁ\‘:;:nJ @ 2A 250V TIS0 } :
K512WGUE4+ (Accessories for K512WGU)
B #4& Product Specification
&S MR RReT e
Model No Body Material Fixing screw Bd
RWZJ149 e Steel Plated Zn M10X1 / M3 7
9}
RWZ)248 #EF Steel Plated Zn M8X1 / M3
12 ?16
Bk #4& Product Specification
8BS Fire R BREE iR
Model No Body Material  Fixing screw Heat-resisting
RWSLO023 PPS M10X1 Max. 250 °C
RWSLO10 PPS M8X1 Max. 250 °C
EofE#4E Product Specification
. ‘ &S EEHR g
Model No Body Material Heat-resisting
RWSL263 PPS Max. 250 °C

< IT

——

Be{F#148 Product Specification

BS FEMR i
Model No Body Material Heat-resisting
RWSL878 PBT Max. 180°C

M4 Product Specification

BS FEHR it iE
Model No Body Material Heat-resisting
RWSL893 PAB6 Max. 180°C

M4 Product Specification

WS FEHR iR
Model No Body Material Heat-resisting
RWSL261B PA6 Max. 180°C
RWSL262D PAG Max. 180°C

M4 Product Specification

wS EE&H R itiE
Model No Body Material Heat-resisting
RWSLBO3 PAB6 Max. 180°C
RWSLBO4 PAG6 Max. 180°C

Be #1148 Product Specification

WS R
Model No Body Material

RWTHO044

REEH Stainless steel

25

GU10/GZ10%T EE

GU10/GZ10 lampholder

19.3

24.5 @95

@31.5

255
38.5
Edd
L, A =]
485 24
28

66.4

@5.5

7N |'|| T |'|I|.-'“.'\.
,_.:ihll|||.||.||.I|.|||||||.||.||.I||||||.| A

'|r :’}

048 | A



GU10/GZ10%T B

GU10/GZ10 lampholder

= @ #48& Product Specification

Bs MR fib 541 R REEE KTEESEE
Model No Body Material Contact Fixing screw Lamp Socket
. N K512ZGU PBT g5 Stainless steel M3 Gu10
N \
“L}* )
23
| e
0.5-0.75mm? plug-in Max.s1.8
2A 250V T180
K512ZGUEE (Accessories for K512ZGU)
E M4 Product Specification
="} s WS EEHR RRIRET
— ' -y Mod: No Body Material Fixing screw i e M3
- —— RWZ)149 g Steel Plated Zn M10X1 / M3 o
— RWZ)248 P Steel Plated Zn M8X1 / M3 ©
e 12 216 \

@' | 049

GU10/GZ10%T EE

GU10/GZ10 lampholder

7= @ #4#8 Product Specification

Max.81.8

(o]
0.5-0.75mm? plug-in
(R 2250V TI80

BS 03754 fid 5 #1 R RIKEST KTEESE Y
Model No Body Material Contact Fixing screw Lamp Socket
i;\ K512YGU PBT REEH Stainless steel M3 GU10
L . “
: 827.4 £9

16.5

L]
= 1 |

K512YGU B¢ (Accessories for K512YGU)

B4 #4& Product Specification

13.8 @31
8BS FEHR RERET fitid
Model No Body Material  Fixing screw Heat-resisting
RWSL023 2 PPS Plastic PPS M10X1 Max. 250 °C 8
=
RWSLO10  #8#PPS Plastic PPS M8X1 Max. 250 °C

050 | &




GIXT B2 GOXTJEE

G9 lampholder G9 lampholder

P& GOXT B

Ceramic G9 lampholder

K540A K540D K5408B
K540K K540M K540F
K540L03 K540N Bea00 Pl

(K540N02) (K540L21)

¥BRLGOYT B

Plastic G9 lampholder

K540W K540V

GOXT Bz

G9 LAMPHOLDER

&' | 051 052 | @'



GOXT B

G9 lampholder

7= @#M4& Product Specification

GOXT B

G9 lampholder

K540A/K540D Egf+ (Accessories for K540A/K540D)

<2

gs ES.¥ > 054 bR R TRIRET KTEESEEY
Model No Body Material Contact Fixing screw Lamp Socket
‘\@{ 8 K540A BAE Steatite FEH Stainless steel M3 G9
" L]
N i
— 11.5
[ VO »—ﬂﬂ*@ [
0,5-1.0mmy’ plug-in Max.#1.8 5
ﬁ
‘ (R 2A 250V T250 ] i
- 20
A& Product Specification
BS ES.¥ > 054 bR R TRIRET XTRESEEY
Model No Body Material Contact Fixing screw Lamp Socket
- | “‘ K540D BAE Steatite FEW Stainless steel M3 G9
- |
!‘ .. * e *E#EMTClass [1 TR Directly used in class I1 luminaire.

-
[oooecs] ] a4

8]
0.5-1.0mm’* plug-in Max.#1.8

SN s 250V 500w
@ ® 2A 250V T250 ]

@' | 053

?24.7

Be{F#148 Product Specification

wmS MR BRRET
Model No Body Material Fixing screw
RWZJ252  Steel M10X1
RWZ)088 4 Steel M8X1

054 | A




GOXT B GOXTJEE

G9 lampholder G9 lampholder

Fr@#M4& Product Specification '
K540B/K540) Big¥d (Accessories for K540B/K540))

Bs E MR it R4 R RRERET KTRESE B
Model No Body Material Contact Fixing screw  Lamp Socket
Product Specification
'.t,g;;) K540B BEE Steatite  REEW Stainless steel M3 G9 LS P 12
i
.. wHS EHMR REIRET
@ = = Model No Body Material Fixing screw
gt Wi y |
e & L 30 RWZJ252 4 Steel M10X1 §
21.7 RWZJ088 ] Steel MBX1
P ~ i .
o plug-in | | Fifaxers [|||I|I||||||||||II_ EofE#4E Product Specification 28x2
g“‘ us 250V suow} ‘ 2A 250V TZSU‘ = - - - — e 2
.. —_ Model No Body Material Heat-resisting sl @
AT - = 4 8 8
U || Wi | | RWSL005 HELCP Yellow LCP Max. 250°C
I _
=gl s
EofE#4& Product Specification
28x2 1886
: ®/S MR _
= Model No Body Material
£ =
RWQT039 %A% Zinc alloy
——— 5 * B& K540B,K540)9MELSME Match outer ring of 540B and 540)
@it Product Specification
me MR R ZizemeT TR B4 #4& Product Specification 28x2
Model No Body Material Contact Fixing screw Lamp Socket N
- - gy RS weli =ieHR
A o - e K540) BAE Steatite  FEW Stainless steel M3 G9 ﬁm% f 2 Model No Body Material o o
( = e A g 3
.s b = *E#EMFClass I ¥TR Directly used in class 11 luminaire. ey RWQT830 #8% Zinc alloy ] ]
' == > 5o
8.5
[r2ops] 7
28x2
(] — e
0.5-1.0mm’ |§ alu?—in\ "b;;_n.s 1| | II I|I i 1 \ I| i \ I|I I|
1) '.ll il '.II L A
I:N us 250V 500W ©
[ o
@@ 2A250VT25I]] —
|I|||||||II|I||||I||||I|||||'ll_, _Y_
L
-t
225

@' | 055 056 | A’



GOXT 2

G9 lampholder

Fr@#M4& Product Specification

E=D 3

Bs E{EH R AR RERE KTRESE B
= Model No Body Material Contact Fixing screw Lamp Socket
“ & L) K540K BARE Steatite R Stainless steel M3 G9
\‘ s \ )
v 20.8x2 B 23.3
e T
@ _‘ 0 [ 2= B
= ug_in} % \H\\\\\\H\\ |
:“\ s 250V 500w |
[ &€ €0 & (S) 2a250v 1250 ‘
= miltE Product Specification
Bs MR 4R RERE KTRESE B
Model No Body Material Contact Fixing screw  Lamp Socket
' vy K540M  ®%G% Steatite A% Stainless steel  M10x1/M8x1 / )
; G IPS1/8" -27
b ani - *EiEMATClass I1 {TE Directly used in class IT luminaire.
- 265
=) s |
|
= 28 |2
0,5-1.0mm’ %Iugm Max.#1.8 %
AN us 250V 500 ]
!
[ @@ 2A 250V T250 I -
K540K/K540M &2 (Accessories for K540K/K540M)
M3

& 3

&' | 057

M4 Product Specification
WS 37054 RERT
Model No Body Material Fixing screw 0
RWZJ126 # Steel M10X1 / M3 8
RWZJ127 M Steel M8X1 / M3 ™
RWZJ128  Steel 1/8"-27 / M3 g

13

B4 #1148 Product Specification

HS FEMR RERET
Model No Body Material Fixing screw
RWZJ594 M Steel M10X1 / M3
RWZJ319 R Steel Max1 / M3
E 4 #4& Product Specification
HS E3 %05
Model No Body Material
RWQTO021 #2% Zinc alloy
E 4 #4& Product Specification
HS FEHR
Model No Body Material
RWQT829 &% Zinc alloy
B4 #4& Product Specification
HS FEMR i iE
Model No Body Material Heat-resisting
RWSL113 LcP Max. 250°C
B4 #4& Product Specification
®s FEM R RERET iiiiE
Model No Body Material  Fixing screw Heat-resisting
RWSLO73 LCP M10X1 Max. 250 °C
RWSLO74 Lcp Max1 Max. 250 °C
RWSL093 LCP IPS 1/8" -27 Max. 250 °C

18.6

13.2

GOXT EE

G9 lampholder

]
;
s
O |
irs .. |.106 |
058 | G’



GOXT B

G9 lampholder

Fr@#M4& Product Specification

ns v 153 fid#1 5 RIKEST KTHEEER
Model No Body Material Contact Fixing screw  Lamp Socket

. o K540F BEE Steatite B Stainless steel M4 G9
\\/ " -_/

= =] |

05-10mm’ plug-in | | iaxeta =

WA us 250V 500w ‘

[ @@ 2A 250V T250 | -

K540F B2f¢ (Accessories for K540F)

RS
Model No

B4 #4& Product Specification

EFEMR
Body Material

RWQT024

FEE Stainless steel

B4k #4& Product Specification

&' | 059

wS MR LRIRET
Model No Body Material Fixing screw
TEW+HEE
RWQTO024+RWQT174 stainless steel+Zinc alloy M10X1 / M3
-- T+ HES
- RWQT024+RWQTI73 Stainless steel+Zinc alloy M8X1 /M3
o] (49 RWQT024+RWQTI75 smijmﬁrfauw 1/8"-27 { M3

213.8

7 @#4#& Product Specification

GOXT EE

G9 lampholder

as ES v )54 bR R RRBE KTHEESE Y
Model No Body Material Contact Fixing screw Lamp Socket
LY K540L BEE Steatite AW Stainless steel M3 G9
-
e \
L
o DB o
|¢0 [‘__(;...\ g |
n.s-l.omm*I plug-in ) | Fitaxsrs - .
¢ WA us 250V 500w
l [@ @@ 2A 250V T250 | 132
= am#l#g Product Specification
as ES v )54 AR RERE KTEESEERY
Model No Body Material Contact Fixing screw  Lamp Socket
K540L03 BRE Steatite g4 Stainless steel M3 G9

=

*BEEMFClass II YTR Directly used in class I1 luminaire.

27

[®]
@] % O ||
[U.S-I.Dmrn’ pIug—inH Max.s1.8
‘ [€ ® 24250V T250

$18.2

K540L/K540L03 24 (Accessories for K540L/K540L03)

B {43148 Product Specification

HWS MR RIRRET iR
Model No Body Material  Fixing screw Heat-resisting
RWSL052 BHICP M10X1 Max. 250 °C
RWSL053 #BHLCP M8X1 Max. 250 °C
RWSLO054 BHICP IPS 1/8" -27 Max. 250 °C

20.8x2

060 | A’




GOXT FE

G9 lampholder

< ___n 5%
Z el

==glE

&' | 061

B4 #1148 Product Specification

®S FEME TRIBET iliE
ModelNo BodyMaterial Fixing screw  Heat-resisting
RWSL073 BHLCP M10X1 Max. 250 °C
RWSLO74 EERLCP M8X1 Max. 250 °C
RWSL093 BBHLCP IPS 1/8" -27 Max. 250 °C
EifE#4E Product Specification
®s E2LyY )5
Model No Body Material
RWQT021 HE&E Zinc alloy
B4 #4& Product Specification
HS MR
Model No Body Material
RWQT829 4% Zinc alloy
o4& Product Specification
HS MR iR
Model No Body Material Heat-resisting
RWSL113 LCP Max. 250°C
M4 Product Specification
Hs FEME RERET
Model No Body Material Fixing screw
RWZ)154 ] Steel M10X1 / M3
RWZJ155 i Steel M8X1 / M3
RWZJ156 ] Steel 1/8" -27 / M3
M4 Product Specification
HS EFMR RERET
Model No Body Material Fixing screw
RWZJ126 # Steel M10X1 / M3
RWZJ127 W Steel MBX1 / M3
RWZ)128 # Steel 1/8" -27 / M3

13.2

20.5

N

218.1

]

10.6

13.2

12.3

13

L

O

Be4#14& Product Specification

WS EEMR RERET
Model No Body Material Fixing screw
RWZ)594 M Steel M10X1 / M3
RWZJ319 i Steel M8x1 / M3

BC 1 #04& Product Specification

WS EMR REIRET
Model No Body Material Fixing screw
RWZJ626 M Steel M10X1 / M3

18.6

18.2

GOXT B

G9 lampholder

M3
o
M3
5
©)
6.3
062 | @'




GOXT & GOXT JEE

G9 lampholder G9 lampholder

™ @miltE Product Specification .
K540NO02 Eg#+ (Accessories for K540N02)
Bs F 4R b4 R RRIERET KTRESE B
Model No Body Material Contact Fixing screw Lamp Socket
Product Specification
5 - K540N BEE Steatite AW Stainless steel M3 G9 Rl R 27
S &S MR RIKRRET it iR
h i 10 @ ; 5 Model No Body Material ~ Fixing screw Heat-resisting fnﬂﬂﬂnﬁnﬂﬁm ﬁ/ws\ﬁ“\
of 4 3 RWSL153 SBEILCP M10X1 Max. 250 °C I Il || || || g C\ i
= 9 T | Al 8 €Y
- o - _ RWSLO70 SBHLCP M10X1 Max. 250 °C Wil I I || M o /
‘ " " | o g 1 RWSL154 ERLCP M8X1 Max. 250 °C
= —+ = i RWSLO71 BERILCP M8X1 Max. 250 °C PORARN
@:Hfiﬁwﬁ” o us 250V 500w ”l l ||r||| |”|ﬂﬂh
0,5-1.0mm S e RWSL155 EHLCP IPS1/8"-27  Max. 250 °C ||||||| I |||||| I I
%(S) 24250V T250 ) (|
[€ @@ ‘ 145 95 RWSL172 LR IPS1/8” -27  Max. 250 °C ||| ||||||,||| I |||||
24.5
™ @miltE Product Specification
Bs FHH R AR RERET KTRESE B
Model No Body Material Contact Fixing screw Lamp Socket
F ' ;}&J} K540N BEE Steatite R4 Stainless steel M3 G9 (K540N02)
”} 4
10
== g
‘ﬁ“ﬁiyﬁ: SN us 250V 500w/ Gl 8 ]
E@ @@ 2A 250V T250 ‘ — _
3.8
23.2

@&’ | 063 064 | D’



GOXT &

G9 lampholder

Fr @& Product Specification

ik ¥ JR

Contact

RRIEET

Fixing screw

KTEESERY
Lamp Socket

0 5
0,5-1.0mm’* plug-in Max 1.8

AN s 250 500w
[E X ® 24250V T250 }

BS EiE#E
ModelNo  Body Material
K540L BAE Steatite

AEW Stainless steel

3.2

M3 G9 (K540L21)

218

=

@’ | 065

25.4
K540L21 B2+ (Accessories for K540L21)
E 44 Product Specification
8BS MR LIRIRET 1=
- —~ ModelNo  BodyMaterial Fixing screw  Heat-resisting b
; ’ - 2 2
- 4 | RWSLC99 #RILCP M10X1 Max.250°C ™ &
- i
RWSLDO1 EHLCP M8X1 Max. 250 °C of3)
-
17.5 | 10.6
M4 Product Specification L
£ EEMR RIEIRET
Model No Body Material Fixing screw
RWZ)154 1 Steel M10X1 / M3 -
RWZJ155 i Steel M8X1 / M3
<_"—n T
RWZJ156 A Steel 1/8" -27 / M3
M4 Product Specification M3
£ MR RIEIRET
. Model No Body Material Fixing screw
RWZJ126 i Steel M10X1 / M3 0 %
2 e
RWZJ127 4 Steel M8X1 / M3 i
lesoorea] ) RWZJ128 4 Steel 1/8" -27 / M3

12.3

L

Be4#14& Product Specification

WS EEMR RERET
Model No Body Material Fixing screw
RWZ)594 M Steel M10X1 / M3
RWZJ319 i Steel M8x1 / M3

BC 1 #04& Product Specification

WS EMR REIRET
Model No Body Material Fixing screw
RWZJ626 M Steel M10X1 / M3

18.6

18.2

GOXT &

G9 lampholder

M3

13

13.1

6.3

066 | A’




GOXT &

G9 lampholder

= @& Product Specification

- N
rssspcs] ) 6.59)
() 2 %

Max #1.8

[®]
=z
0.5-1.0mm’ plug-in

® 2A 250V T120 I

e 132

as EE#HE R RRIERET KTRESE B
" Model No  Body Material Contact Fixing screw Lamp Socket
' \ \‘ K540wW PBT FREH Stainless steel M3 G9
1
*E i FClass 1 ¥TE Directly used in class I1 luminaire.
o 23.3 o
= L O
[T
= _‘ 6] \,_9-5:1
[U.S-l.ﬂmm’ Ug'i“ Maxs1.8 -
(© worma) MY
= mlig Product Specification
s EiEHE bR R TRIERET KTEESEEY
ModelNo  Body Material Contact Fixing screw Lamp Socket
\‘; R £ K540V PBT FEEW Stainless steel M3 G9
A W ‘
X *E# A FClass 1 ¥TR Directly used in class I1 luminaire.
26.5

K540W/K540V fig¥ (Accessories for K540W/K540V)

EifE#4E Product Specification
HS FHEM R RERET
[ Model No Body Material Fixing screw
Q B RWZJ126 ] Steel M10X1 / M3
RWZJ127 i Steel M8X1 / M3
RWZJ128 ] Steel 1/8"-27 / M3

@' | 067

20.5

12.3

M3

13

GOXT EE

G9 lampholder
E {4 #4& Product Specification
M3
RS FEMR RERET
Model No Body Material Fixing screw T _
RWZ)594 M Steel M10X1 / M3 @ I ©
RWZJ319 i Steel M8X1 / M3 -
E {4 #4& Product Specification
RS FEMR
Model No Body Material
RWQT021 #A&% Zinc alloy
E {4 #4& Product Specification
HS FEHR
Model No Body Material
RWQT829 5% Zinc alloy
{4 #4& Product Specification
RS FEMR iR
Model No Body Material Heat-resisting
RWSL113 Lcp Max. 250°C
{4 #4& Product Specification
®S MR RERET iiiia - m|
Model No Body Material Fixing screw Heat-resisting N -
o
RWSLO73 Lcp M10X1 Max. 250 °C " ©
O -
RWSL074 LCP Max1 Max. 250 °C 75 g |
RWSL093 LCP IPS1/8" -27  Max.250°C

068 | &’




E14%T FE

E14 lampholder

E14)T &

E14 LAMPHOLDER

@' | 069

¥BRLE144T B2

Plastic E14 lampholder

K314A

B B E144T B2

Ceramic E14 lampholder

& K549

K314B

K314E

E14XT i

E14 lampholder

070 | &)’



E14)T i

E14 lampholder

[ 5y

"I

=S M#% Product Specification

Bs AR fib 41 R REBET KTEESEEY
Model No Body Material Contact Fixing screw  Lamp Socket

K314A PET A+ R HW M3 E14

Brass+Stainless steel

J [
(8] T
0.5-1.5mm? %Iug-in [ Max.#1.8

G2 R 2A 250V 1210 ]

& | o7

K314A B2¢f (Accessories for K314A)

B4k #4& Product Specification

®s FEME REIRET iiiiE
ModelNo  BodyMaterial  Fixingscrew Heat-resisting
RWSL635 PAB6 M10X1 Max. 180 °C
RWSL636 PABE mMaxi Max. 180 °C
RWSL638 PAG6 M7X1 Max. 180 °C

Bk #4& Product Specification

E14XT

E14 lampholder
= amilig Product Specification
as ES 2 )54 R TRBE KTRESEBY
Model No Body Material Contact Fixing screw Lamp Socket
K314B PET W RBN M3 E14

Brass+Stainless steel

®S MR RERET iliE
ModelNo  BodyMaterial  Fixing screw Heat-resisting
RWSLAS58 PBT M10X1 Max. 180 °C
RWSLAS9 PBT MaX1 Max. 180 °C

B4k #4& Product Specification

®BS EFMR REKIRET [ S
ModelNo Body Material ~ Fixingscrew  Heat-resisting

RWSL656 PAB M10X1 Max. 180 °C

T
P o
= T [ = I e & o [ -
0.5-1.5mm? %u{g}-in C‘%a% N =
2 @R 2A 250V 1210 ‘ L WW m
45
= amilig Product Specification
as EEME AR RIERBRET XTRESEEY
o Model No Body Material Contact Fixing screw  Lamp Socket
= L
K314C PET /TR M3 E14

# I
< T
=g

(@] [
O || st
0.5-1.5mm? plug-in Max.81.8

2 4R 2A 250V 7210 ‘

RWSL657 PAG MBX1 Max. 180 °C g

*PAEEM10x1 MBx 1428 Must go with a M10x1 or M8x1 nut

Brass/Stainless steel

28x2

0721 &




E144T & E14)T

E14 lampholder E14 lampholder
T @#A& Product Specification B2 #0148 Product Specification !
®s EHME i i ©
ns FHEME k4R (RERE] XTEESE = 5 == Model No Body Material Heat-resisting i
o i Model No Body Material Contact Fixing screw Lamp Socket !
3 g K314D oer PR " s R RWSL552 PET Max. 210°C #35.0
’) Brass+Stainless steel —— o
. ==y

] B #I4& Product Specification

B

BS MR iR
Model No Body Material Heat-resisting

¥
),

U=y
™
i
8

U
(o]
0.5-1.5mm? plug-in

RWSLAG4 PBT Max. 180 °C

®35.2
&2 QR 2A 250V 1210 } 46.5 ==
44 Product Specification
@S MR R | | |
—_— = Model No Body Material Heat-resisting o
—-— RWSL519 PET Max. 210 °C i ! ]‘
243.8
K314B/K314C/K314D B+ (Accessories for K314B/K314C/K314D) ﬁj (] |
Bo {4 #14& Product Specification B2 #14& Product Specification
BS EHMR LIRIRET (=1
= ol Fix -resisti %S ERHR il
. & ModelNo  BodyMaterial Fixing screw Heat-resisting J— - Mode?l No Body Material Heat-resisting : I ‘ ] =
- < RWSL635 PAG6 M10X1 Max. 180 °C _— Ml ——— - — ‘ ; ‘
RWSL636 PAG6 M8X1 Max. 180 °C — e 943.8 |
— e
RWSL638 PAG6 M7X1 Max. 180 °C o] ) [i39

Bk #4& Product Specification

®S MR LARIRET ifiE
ModelNo  Body Material  Fixing screw Heat-resisting
RWS5SLa58 PBT M10X1 Max. 180 °C
RWSLas59 PBT MBX1 Max. 180 °C
B fE#4& Product Specification
- BS FiPHER RERET ffifid
i . ModelNo BodyMaterial Fixingscrew  Heat-resisting
*-;
v, RWSL656 PAG M10X1 Max. 180 °C
RWSL657 PAG M8X1 Max. 180 °C

=
==y B0 .
x1 M8x 1488 Must go with a M10x1 or M8x1 nut

@&’ | 073 074 | &’



E14)T i

E14XT B
E14 lampholder E14 lampholder
T @#A& Product Specification E2{4#4& Product Specification
®s R iR i
S FHH R 4 R RIS KTEES B = = = Model N Body Material -resisti i
- Model No Body Material Contact Fixing screw  Lamp Socket o  a— ° ° dy Materia Heat-resisting ! “
e 4 - RWSLAG4 PBT Max. 180°C '
/ - K314E PET 5+ AW M3 E14 $35.2
| . Brass+Stainless steel — o
g ey}
=
L | — B4 #4& Product Specification
e ;
o 8BS FEM R ilid [ i I
2 -;ﬁ“ = F——— Model No Body Material Heat-resisting ! et
Lﬁ%ﬁ Eé’%ﬁ:% -— RWSL519 PET Max. 210 °C | } !
e plug-in Max.#1.8 95438
G2 (R 2A 250V 1210 } m,
B4 #4& Product Specification
@S MR A :
— — Model No Body Material Heat-resisting [ : I 9
o — | ! |
-— RWSLAG2 PBT Max. 180 °C 5 : ‘
: 43.8
K314E &g Accessories for K314E e !
# ( ) ) ()
9.7
E2{4#14% Product Specification | @52
- r_J ‘\—:
L &S EBHR R 8 e (Y
| ; 5‘4 _ Model No Body Material Heat-resisting S o —— )
RWSL927 PAG6 Max. 180 °C : s ==
—
24
B4 #4& Product Specification
223
®S FEM R RHIRET ffifiE
y [ ModelNo Body Material Fixing screw  Heat-resisting
RWSL523 PA66 M10X1 Max. 180 °C
RWSL524 PA66 M8X1 Max. 180 °C
EofE#4E Product Specification
wmS MR iE :
7 = Model No Body Material Heat-resisting [ ‘ [ ‘ ; | ‘ ‘ ‘ x
N RWSL552 PET Max. 210 °C !
_ $35.2
==
076 | &’

@' | 075



E14XTEE _—— — —— E14%T

E14 lampholder e E14 lampholder

A& Product Specification
s EEMR MR RERET KTEEZERY
Model No Body Material Contact Fixing screw Lamp Socket
K549 BEE Steatite i+ W M3 E14
Brass+Stainless steel
PR EGEIER
Center contact fully
< compressing distance
175
=8 =
0,5-1.0mm’ plug-in Maxs1.8

@30

2A 250V T250

45

K549 fig¢¢ (Accessories for K549)

Bl 44 #M4& Product Specification Ny

]

RS MR LHEIRET
} [ ’ Model No Body Material Fixing screw
/ RWZJ387 il steel M3 ©

34.5
19

“Q\'

&' | 077




E27XT FE

E27 lampholder

E27XT &

E27 LAMPHOLDER

&' | 079

YBRIE27UT R

Plastic E27 lampholder

K327

B B E27XT JEE

Ceramic E27 lampholder

K327A K327E

K3272

K327M

E27XT i

E27 lampholder

K327X

K327M
(K327M02)

080 | &’



E27 4T EE E27XT i

E27 lampholder E27 lampholder

Mg Product Specification .
K327)/K327W B2¥4 (Accessories for K327)/K327W)
Bs EEME AR REBRET KTEESERY
o0y Model No Body Material Contact Fixing screw Lamp Socket
_4"' v - g -
‘) ! K327) e e ITER . £33 B4 #A% Product Specification
®S iR REIRET iR
e Model No Body Material Fixing screw Heat-resisting ::F_\
y - RWSL217 PAG6 M10X1 Max. 180 °C
}B_i';g% - RWSL218 PAG6 M8X1 Max. 180 °C )
“‘* TT I3 < o7 |
- 1Y ; el [o4s RWSL219 PA66 IPS1/8"-27  Max. 180°C 165
s ‘ ‘ g’, 305
[G 5-1.5mm? %ug in

LAl

\@ \
[ c\:&s%’i::] RWSLAG6 PBT M10X1 Max. 180 °C
Max.#1.8 |
RWSLAG7 PBT M8X1 Max. 180 °C
G222 €O () 4A 250V 1210

. 45.5
Mg Product Specification
Bs M E bR R RERE] KTEESERY
Model No Body Material Contact Fixing screw  Lamp Socket

- . - -
» ’ ' K327wW PET Bra ssﬁ?jn%eﬁ steel M3 E47

= o o o | o +—F

&) ® 4A 250VT2‘ID] @y

2

38

45.5

@R’ | 081 082 | &’



E27XT i

E27 Lampholder

S

e N
v [}
Max.#1.8

9]
o]
0.5-1.5mm? plug-in

7= @#M4& Product Specification

ns EE54 R ik 4R REEST KTHEERH
Model No Body Material Contact Fixing screw Lamp Socket
i+ A5
K327K FER Brass+5:ainless steel p3 R2#

IUHGAMOAG

|‘l‘ ﬂj{m d_

E27XT i

E27 lampholder

K327K/K327X E2¥¢ (Accessories for K327K/K327X)

e )

<__— 9%
==

-y

[fﬁﬁ@mzsowzm ‘ H”m
45.5 ‘
= am#lig Product Specification
as FHEME iy BREBE KTRESEEY
Model No Body Material Contact Fixing screw Lamp Socket
» K327X PET Brassfg:j: rﬁisﬂ; steel M3 E27

[ 0.5-1.5mm?* %E—in} c\?%ﬂ o H ” H_\ﬂ u HJ j

o ] <

§ ~©

‘ TS ® 4A250VT210‘

@' | 083

LI_IJI__

L mﬂ”wﬂﬂ“ i

uLJL'
44

T

B4 #14& Product Specification

WS E3%% )51 REIRET iR
Model No Body Material  Fixing screw Heat-resisting
RWSL217 PABE M10X1 Max. 180 °C
RWSL218 PABE M8Xx1 Max. 180 °C
RWSL219 PABE IPS 1/8" -27 Max. 180 °C
RWSLAG6 PBT M10X1 Max. 180 °C
RWSLAG7 PBT M8Xx1 Max. 180 °C

B4 #4& Product Specification
HWS EFHR iiE
Model No Body Material Heat-resisting
RWSL216 PET Max. 210°C
RWSLA70 PBT Max. 180°C
E 4 #4& Product Specification
HWS EHME ifiE
Model No Body Material Heat-resisting
RWSL548 PET Max. 210°C
RWSLA72 PBT Max. 180°C

]

10

maiin

?58

NUTIL T g

©46.5 ‘

084 |



E27XT i

E27 lampholder

= @#4& Product Specification

E27XT i

E27 lampholder

K327L/K327Y fid¥f (Accessories for K327L/K327Y)

e )

<__— 9%
==

s FHEME b4 R BREBRET KTRESEEY
I Model No Body Material Contact Fixing screw Lamp Socket
[ 0 K327L PER Brassﬁ?irﬁ?; steel M3 E27
*,
2 4
[ 5 = ‘:5\ =7 \II'| ¥
o) = {He-—et &-iim-—F
_ A\ &7%/
‘ €2 R 4A 250V 1210 ‘ \\gf)ir % _JMMM
NN B 455 _
= am#lig Product Specification
as FHEME R BB KTRESEEY
Model No Body Material Contact Fixing screw  Lamp Socket
K327Y PET T+ A N M3 E27

4 = .

> T
(3] ) fro74]

8] (==
0.5-1.5mm? plug-in Max.#1.8

‘ G ® 4A250VT210‘

@' | 085

Brass+Stainless steel

40X2.5

.
ﬁh
|

il

”\r,|r|

I

il

i A l"m 1"1

i

g
|

i

0]

i ]
il ‘

44

B4 #14& Product Specification

WS E3%% )51 REIRET iR
Model No Body Material  Fixing screw Heat-resisting
RWSL217 PABE M10X1 Max. 180 °C
RWSL218 PABE M8Xx1 Max. 180 °C
RWSL219 PABE IPS 1/8" -27 Max. 180 °C
RWSLAG6 PBT M10X1 Max. 180 °C
RWSLAG7 PBT M8Xx1 Max. 180 °C
B4 #4& Product Specification
HWS EFHR iiE
Model No Body Material Heat-resisting
RWSL216 PET Max. 210°C
RWSLA70 PBT Max. 180°C
E 4 #4& Product Specification
HWS EHME ifiE
Model No Body Material Heat-resisting
RWSL548 PET Max. 210°C
RWSLA72 PBT Max. 180°C

A -1 O

?58

10

UG U T g

‘ ©46.5 ‘

086 |




E27XT i

E27 lampholder

< o

(o]
o]
0.5-1.5mm? plug-in

40x2.5
FaN| .|
8.4

i Product Specification
s ES. 2 )54 b4 R RRBE KTEESEEY
Model No Body Material Contact Fixing screw  Lamp Socket
K327M B Br.';lssfgz:;iF rﬁi steel M3 E27
7

‘ ) R 4A 250V 1210 ‘ —F
45.5
K327M Bi2¢k (Accessories for K327M)
E {4 #4& Product Specification
wS MR BREE wiE
Model No Body Material Fixing screw Heat-resisting S
- RWSL217 PA66 M10X1 Max. 180 °C
RWSL218 PA66 MBX1 Max. 180 °C
———- e |
e (G40 RWSL219 PAG6 IPS1/8" -27  Max. 180 °C =
RWSLA66 PBT M10X1 Max. 180 °C 205
RWSLAB7 PBT mMax1 Max. 180 °C
@' | 087

E27XT i

E27 lampholder

A Product Specification
Bs M E b4 R TRIERET KTHESERY
o Model No Body Material Contact Fixing screw  Lamp Socket
-".IJ L\ K327M PET Brass/ﬁﬂszﬁﬁgs steel M3 E27 (K327M02)
Y : fJ
=)= g
0.5-1.5mm? plug-in Max.#1.8
G2 R 4A 250V 1210 ‘
46.6
K327MO02 B2 (Accessories for K327M02)

EofE#4E Product Specification S

J e MR SueRsT 7
\/ Model No Body Material Fixing screw O
e g RWZJ522  Steel M4 B
T =l
=
Bef4#14& Product Specification —
O

o M4 _
®S MR REIRET = N
Model No Body Material Fixing screw o & =)
RWZJ523 1 Steel M4 —
EX 5574

Bef4 A& Product Specification =
21

‘//% &S MR wEEe &

- Model No Body Material Fixing screw T
O

-j RWZJ524 i Steel M4

& =
e |

088 | &'




E27XT i

E27 lampholder

‘ &) G 4A 250V 5KV TZBU‘

=@ #4#& Product Specification

as 3% 5 Q&4 & b4 R REBRET KTRESE B
Model No Body Material Screw Material Contact Fixing screw Lamp Socket
K327A &% porcelain 4 Brass ) Brass M3 E27 (K327A11)
K327A &i&%& Porcelain W Steel i Brass M3 E27 (K327A10)

il mse S EYEEEE
Center contact fully
compressing distance

18

47

7= @#M4& Product Specification

E27XT i

E27 lampholder

-

6 |

[
¥
0.5-2.5mm? Max.#1.8

DN (R 4A 250V 180

@' | 089

Fr@#M4& Product Specification

RERB

Fixing screw Lamp Socket

KTEEZSE

MO%EEI-NU Bodiyﬁ\;d*gtjfrial Scré:!.lﬁ\fﬁgrial %oﬁngg

K327E #iZE& Porcelain £ Brass i Brass

K327E &% Porcelain 4 Steel §f Brass
PfibrATEL EARIEE

Center contact fully
compressing distance

16.5

46

@41

M3

M3

E27 (K327E06)

E27 (K327E17)

iﬁl %Iug-m

U
O

==

4A 250V T230

e EHHME AR RERE (ERE
Model No Body Material Contact Fixing screw Lamp Socket
4 ; i+ R EH
K327z Ei% Porcelain Brass+Stainless steel M3 E27
PR E EREIEE
Center contact fully
compressing distance
4.3
© |
= -
]'I -]
mE O|a2 bt

o

K327A/K327E/K327ZE2¥¢ (Accessories for K327A/K327E/K3272)

ER4E#4& Product Specification

RS EHE fitid [ &
Model No Body Material Heat-resisting ] ] @ ‘ o Q ] @
g |\ /
@ Fi
RWSL545 PBT Max. 160 °C
L= \u/
15.3 18
EofE#4E Product Specification
RS ESY 00 RERET fitiE
Model No Body Material  Fixing screw Heat-resisting
i
RWZJ149 steel Plated Zn M10X1/M3 Max. 180 °C
miEsE 9
RWZJ248 o0 plated Zn MBX1/M3 Max. 180 °C
EofE#4E Product Specification
RS 5735 RIRIRET ®
Model No Body Material Fixing screw
RWZJ505 1 Steel M4

090 | &’



E27XT i

E27 lampholder

e

f Ii S
‘\\ K

= @#4& Product Specification

as ES > 054 iy REBRET KTRESEEY
Model No Body Material Contact Fixing screw Lamp Socket
K547) BEE Steatite A Stainless steel M10x1 E27
PSS AR

Center contact fully
compressing distance

® 4A 250V T230 l

&' | 091

< > gT 27
=== )
5-1.0mm’ Max.#1.8
2 ®4A 250V T230 } =
57.1
= am#lig Product Specification
as E{EH R 4 R TRBE KTRESEEY
Model No Body Material Contact Fixing screw Lamp Socket
K547Q BAE Steatite W Stainless steel M13x1 E27
PRS2 ERIEE

Center contact fully
compressing distance

.

63

oy |
ity
fres

E27XT &

E27 lampholder




